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Example 1:

60o

15.0cm

Find the missing side x

x

(opposite to 600 )

(hypotenuse)

HINT:  What trig function uses opposite and
             hypotenuse?     

sin 60o =   opposite
                 hypotenuse
sin 60o = 15.0 cm

        x
(sin 60o) x = 15.0cm
              x = 15.0cm
                     sin 60o

              x = 15.0cm
                    0.8660
              x = 17.3 cm
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Find the missing angle x

x

4.0cm

7.0cm

(opposite to x)

(adjacent to x)

HINT:  What trig function uses opposite and   
              adjacent?

tan x = opposite
adjacent

tan x = 4.0cm
7.0cm

tan x = 0.5714
      x = tan­1(0.5714)
      x = 30o 

Example 2:
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